Percent - Fraction - Decimal Landscape of Problems XI - XII
Word Problem Types
3 Dimensions: Objective, Application, Number Variation

XI. Multiply fractions (and mixed numbers). Unless otherwise stated, state each answer as a proper fraction or mixed number in lowest terms.
	
	Proper Fractions Given
	Mixed Numbers Given
	Combination

	
	No simplification possible
	Involves simplification
	No simplification possible
	Involves simplification
	No simplification possible
	Involves simplification

	
	
	
	
	
	
	

	Multiplication: repeated addition (“equal-groups”)
	Paul ran 3 miles each day for 7 days.  How many miles did he run all together?
	A recipe calls for  tablespoon of salt. How many tablespoons of salt would you need for 3 recipes?
	Every time you cleaned the hamsters cage you used  of the bedding. How much bedding would you use if you had to clean it 4 times?
	Darla had to create 5 blankets. Each blanket took 1 ¼ hours to complete. How many hours did it take Darla to complete all of the blankets?
	Phil is preparing bags of trail mix.  Each bag is to have one and a half cups of trail mix.  If he plans to make 6 bags, how much trail mix does he need?
	The bike path around Milford is  miles.  Pam rode one-third of the way around the path.  How far has she gone?
	The fundraiser’s goal is  million dollars.  We have raised  of the goal.  How much have we raised so far?

	Multiplication: multiplicative comparison
	[bookmark: _GoBack]Steve ran 3 times as far as Bill.  Bill ran 4 miles.  How far did Steve run?
	1/5 of the students on the track team do jumping events. Of the students who do jumping events, 1/2 do the long jump. What fraction of the students on the track team do the long jump?
	Jessica had 3/4 of an apple pie. She gave 2/3 of what she had to her friend Hunter. What fraction of the whole pie did Hunter get?
	You read  times as long this week as you read last week. If you read for 1 1/10 hours last week, how long did you read this week?
	The cost of the school lunch at Mark Twain elementary is  times the school lunch at Edison School.  The cost at Edison is  dollar.  How much is the school lunch at Mark Twain?
	The new furnace uses  the fuel of the old furnace.  The old furnace uses  gallons per day.  How much will the new furnace use per day?
	The new lights will use  the amount of electricity compared to the old lights.  The old lights use  kilowatt hours per day.  How much electricity will the new lights use?

	Multiplication: arrays or area (“product-of-measures”)
	If you have 3 rows with 5 chairs in each row, how many chairs are there?
	Farmer John decides to plant a garden by breaking up the ground with a shovel. If the rectangle of ground measures 1/5  feet by 3/5  feet, what is the area of the garden?
	A roll of paper towels is  foot by 120 feet.  Find the area of the paper towels.
	A piece of ribbon is 1 inch by  inches.  Find the total area of the ribbon.
	A new counter top will be  tiles by  tiles.  How many tiles will be needed for the new counter top?
	If the field is three-quarter miles by one and a half miles, find the area of the field.
	Find the area of a rectangular piece of property that is  km by  km.




XII. Multiply decimals. 
	
	Both are one non-zero digit
	More than one non-zero digit
	Problem requires adding a zero 

	
	
	
	

	Multiplication: repeated addition (“equal-groups”)
	Paul ran 3 miles each day for 7 days.  How many miles did he run all together?
	Phil ran around the track 4 times.  Once around the track is .3 miles.  How far did Phil run?
	One serving is .75 cups.  If Bill wants to eat 1.5 servings, how much should he eat?
	If one lap around the track is .08 km and Pamela ran .4 of the way around the track, how far did she run?

	Multiplication: multiplicative comparison
	Steve ran 3 times as far as Bill.  Bill ran 4 miles.  How far did Steve run?
	A small bag of chips at ABC Market is $.90.  The same bag of chips at XYZ Market is .8 times the price at ABC.  What is the price at the SYZ Market?
	In 2008, sales were $7.3 million.  In 2009, sales were 1.2 times the sales in the previous year.  What were the sales in 2009?
	Total revenue for Acme Manufacturing for the year was $1.7 million.  Revenue from interest was .03 of the total revenue.  What was the revenue from interest?

	Multiplication: arrays or area (“product-of-measures”)
	If you have 3 rows with 5 chairs in each row, how many chairs are there?
	If a rectangle is .6 m by .7 m, what is the area?
	How many square inches of paper are there in a standard 8.5” by 11” piece of paper?
	What is the area of a rectangular piece of cardboard .3 m by .2 m?
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